Question 3:

Fill In the blanks.

(a) (— 8) + =0
(bY13+_ =0
[c)la+[—12)=
(d) (= 4) + = =12
(e} —15=—10
ANSWEr,

(a)—-8+8=0

(-13)

(b) 13 + =
(c) 12 + (=-12) = 1
(d)— 4 + [-B) = —~12
() 5 =15 = =10
Question 4:

Find:

() (- 7) —8— (- 25)
(b} (= 13)+ 32=-8=-=1
() (—7)+ (—8) + (- 90)
(d) 50 = (= 40) = (= 2)
AnsSwer:

(a)—7—-8-(-25)==7-8+35==15+25=10
(b} (-13)+32-8-1=-13+32-8-1=32-22=10

(e} (=7)+(-8)+ (=90)==T7 =8 =90 = =105
(d) S0 = (—-40) = (-2) =50 +40 + 2 =92
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Cuesilan 1

Renu purchases twd bags of fenicer of waighls 75 kg and 69 kg Find tha maomum value of weighl which
cun maasure e wesghl of Ihe fenilese geact number of Hmes,

Annwar |

For bading maxmum sasghl. we have 10 find HC.F. of 75 and 68
Faclors ol TS e 3z 52 5

Faclors of 3 = 3 x 69

HCF.=3

Tharelors the recguired seighl is 3 kp

Quention 3

Thraa boys slep off bogathar fom thae samae spol. Thelr slaps maasurs 83 cm, 70 cm and TT om
roapeciivaly. YWhal m e marimum destanca sach should cover so thal all can cover o dalancs o

complrin sleps?
Answerd

Far finding minenum dsance, we hawe 1o find L.C M of &3, T and 77

7 43,70,77
9 910,11
10 1,10,11
i1 L 1,11

Lo

LCM of 63, TOand T7» Tu G x 10x 11 = 6930 em.

Thatefore, the minemum distances is 6930 cm,
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Quesiion &

The traile ight= &t three diff erent rosd crossngs change after every 45 ssconds, 72 seconds and 104
snconds mzpectvely. | they chango sinullanoously al T a.m, al whal lime will they change smullaneoushy

again?
Anuwar B
LEM of4d, T2 108=2xdeda2gdiglnd=432 sac.

Afwr 432 seconds, the lighls changs simultanaously,

40, 72,108
24, 36, 54
112, 18, 27
6, 9, 27
'3, 9, 27
1, 3, 9
1, 1, 3

1

32 sacond = T minuies 12 sooconds

Tnerafore tha lima =7 &m, + T minuies 12 saconds

=TOF 12 g.m.

W o Ll M PR Pl P

Cuestion T

Thema 1@nkars contain 403 itres and 465 Wres of desel respaciively. Find the maximum capacty of &
coriimires hil can mansum e diess] al |hree conialners arsct number af Bimes

Angwer T

The mazmuem capacity of confaines = H.C.F. (407, 434 4/85)
Facloms of 403 = 13 £ 31
Faclarsaf 434 = 2 x T x 31

Faclors ol 465 =3 x 5 x 31
HECF. =31
Tharafore, 31 Wres of conlainer = required by maasura 1he quanbty

Question B
Fand tha leas! number which when dwided by 6, 15 and 18, leave remaindar § In aach cass

Anpwaer i
2 6,15 18
LCM ol 15and =223z 3x5=90 '3 3,159
3 1,5 13
E 1 51
L 1.1
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Question 1:

Find:

(a) 35— (20) (b) 72 — (90)

(c) (—15) — (—18) (d) (— 20) —(13)
(€) 23 — (- 12) (f} (= 32) - (—40)
ANSWEr:

(a) 35~ 20 =15

(b) 72 - 90 = -18
(c)-15=(-18)==15+18=3
(d)-20-13=-33

(e) 23 = (=12) =23 + 12 = 35
({(—32)—(-40) =-32 +40=8
Question Z:

Fill in the blanks with >, < or = sign.

(a) (= 3) + (- 86) (= 3)-(-86)
(b) (—21)— (- 10) (— 31) + (— 11)
(c) 45— (— 11) 57+ (—4)

(d) (—25) — (—42) (—42) —(-25)
Answer:

() (-3} +(-6)=-9
(-3)-(-8)=-3+6=3
-3 < 3

Hence, (= 3) + (= 6) ——(~ 3) - (- €)
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Question L:
Write oppaosite of the follisaingg
[@] Ineremwse in weight
[c] AD m Eaxe
[=] 100 1y phovwe e level
£ Answer 1
[#] Detcweans [in welght
[c] HO m West
(] 14H3 e b low sen level

Question 1:

Represent the [nlll:l'l.'n'ing numbiers as integper with
[a] An aemmplaie is Aving at 3 height twn tho
[h] A submarine s maving at a depth eight b
(€] A deposit of rupees bao hancred,
(<] Withdraval of rupess seven hundresl

E. Answer 1
[a] [=] 2000 melers
(b} (=} BHUE pyweters
(] [+) 24H) Hispreen
[} £=) FOC) i poitein

Quiestlon X:
Represent the lallowing nimbers an numbor line;

(&) 30 km narih
[el) Loss af #7¢4)

() 30 kiwt mauthy
() Prafit of 2700

appropriste signs.
isand meters abwive the growund.
unilred meters below the sea level,

(3] +5 [b) =10
[c) +B Clie
[e] =f
F Answer 3
[ﬂ] i 1 [ | 1 i i 1 *
43210t 23 & 5§
R S JHNP S S S S M S SO O Y
“M=10-0 8 =7 -0 -5 -4 =3 =2 =1 0 1 @2
(€ b ‘ —t

]

[E] — T e 4 i i i |
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